SAMPLE PAPER 3: PAPER 2

QUESTION 1 (25 MARKS)

Question 1 (a) . ,

si(x=2Y +(y+3)' =25 l, Centre (h, k). Radius »

Centre O(2, - 3), r =25 =5 I (x=h)' +(y=k) =r

Substitute 4 into s 10 see 1f it satisfies Pass A through O by a central symmetry to find B
the equation of the circle.
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Question 1 (b) \\

A(6, —6) > O(2, —3) > B(-2.0)
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Slope of - m, = “: [Perpendicular slope|

Question 1 (¢)

'is .d in the rato b~ 1:2
OC is dividec Pomt dividing [PQ) A +ax. Ay =@
O2. -3)=(x,, v C(x3, ¥,) A6, -6) 0 ihe rano a'b e, e _J_
Ratio: a:h=1:2
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2D o4y =185k, =14
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] pa: .
. :(._],:h_ = -H > -6+ 1y, = IR=>yv. =12
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L C14, -12)
Equation of second circle: Centre C(14, =12y r = 10 Centre (h 1 |__ R.u;i.nh i
(x-14y +{y+12 I . 100

(X—h) +(v—k) =
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